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1- A complete circle is divided into
270° (D)

2- A grouped frequency table is also called

frequency distribution ﬂ.‘w U (B)
range &> (D)

3- Angle inscribed in a semi circle is
s

2
4- (x+3)P=x2+6x+9 is

(D)

anequation =il (B)
third degree equation = hla@uelt (D)
5- The arcs opposité to incongruent central angles of

a circle are always
incongruent ¢ (D)
6- The number of terms in a staridard
quadratic equation ax? + bx + ¢ = 0s

4 (D)
7- Sum of the cube roots of unity is
3 (D)
8- Tangents drawn at the ends of diameter ofa
o each other.
parallel : $j15 (D)
9- The domain of R = {(0, 2), (2,3),(3,3),3, 4} is

circle are

360°

congruent i (C) perpendi

non-parallel (§i5%# (C)

(€) 180° (B) 20° (A)

_c"_t'Ug(Jug oad (ﬁvf -2

data v (A)

frequency polygon  Cusu 26 (C)
—c by 11112,/:“; LIy ead 3
n

6
I (x+32=x24+6x+9 _4

(€ (A)

Wiy

alifear equation =hil-uof (A)
anidentity «{lr (C)

véug,u d// J‘U"‘/;‘.'u e Ay .{l -5
- (3}’:' o § db

lar 2% (B) parallel Sy (A)

NLL:L«;JU VUt ax’+bx+c=0 whi Siler Bas 9y -6

3 (© 2 (B) 1 (A
et ¥ i £ 801 7

=1 _(C) 1 (B) 0 (A
UL n SRTowed é:.’fg u;/ﬁ/sﬁc.}b -8

] collinear 434 (B) perpendicular s (A)
-¢-Us Dom-R 7 x R={(0,2),(2,3),(3,3), (3, 4 /1 -9

{2, 3,4} (D) {0, 2,4} (C) {0, 2, 3} (B) {0, 3, 4} (A)
1o If uOCVzlthen ;)7 uocvzﬁ"]o
uv? =1 (D) w? =k (©) u = kv? (B) u=v2®

11- If b2 - 4ac < 0, then the roots
of ax2+bx+c=0 are

natural: J.3 (D)
12- Point (-1, 4) lies in the quadrant

imaginary &4 (c)

UL ax? +bx 4 0= 0 whis b? - 4ac <0 S _11

irrational (#t4 (A)
et S B (-1,4) 5 _12

rational ¥t (B)

IV (D) I (c) I (B) I (A)
13- Mean is affected by change in -t el el S Ji brlflr 13
none of these (/4w (D) origin &g (C) rato <+’ (B) value = (A)
14- |f E=i=k,then b E=l=k N 14
\% v w
u=vZk (D) u=w?k (C) u=vk? (B) u=wk? (A)
15 L cosec 45° = = cosec 45° = _15
2 2
1 1
7 O 75 © - ® V2 )
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2- Write shortanswers to any SIX questions: 2x6=12) “E fep Loy @) g 8 -2
i- Define quadratic equation. _éuyj"' S i
i- Solve: x2+2x-2=0 ESS x2+2x-2=0 i
iii- Write the quadratic gquation in the standard form: ZE+NE=-3)=-7 oblsBuyn i
(x+7)(x-3)=-7 el b Gl S
iv- Discuss the nature of roots of equation: x%+3x+5=0 SZEad pOIfUnL? 434520 bl _iv
v- Evaluate:  (1-30 -30%)° Eeedd (1-30-302)° -V
vi- Without solving the quadratic equation x?-5x+3=0 find AL P x®-5x+3=20 ehieGun Vi
sum and product of its roots. -ép‘” P ol o F Ly
vii- Express the ratio as a fraction in its simplest form: & )ul/TJ / V] :»H'f 30 w271 281 _vii
1 hour : 27 min 30 sec S
viii- If y varies directly as x, and y=8 when x =2, Ly=8uuntetdyax i
find x when y = 28 y=28 L&k x Jn x=2
ix- Find third proportional to 6, 12 e B 6,12 i
3 Write short answers tolany SIX questions: (2x6=12) -2,{ ;i.:«wzﬁéomy(s) 4 c.éf -3
' x—14 7 x—11 .
i- Resolve into partial fraction ———=< -2{‘}:1'( o 7 d,;zf _— -
x-HE+3) -4 (x+3)
ii- What is an improper fraction? ?q,&ﬁ VSl F i
ii- If A=N, B=W, then find A-B _Zp A-Bix A=N,B=W S _ii
iv-If Y=2", T=0", thenfind YUT _Ze YUT 3n Y=28,T=0" S v
v- Define one-one function. _é..yf J J‘Gf Wiy v
Vi- If (3-2a,b-1)=(a~7,2b+5) thenfind a and b & blulaix (3-2a,b-1)=(a-7,20+5) /1 _vi
vii- Define class fimits. E e Fla i
viii- Define a frequency distribution. Eusd a6 i
ix- Write two properties|of arithmetic mean. -é“/j"_-,yﬂ; 2 u( batdl> ix
4- Write short answers tb any SIX questions: (2x6=12) -z,{,(/auz/'?é..-,mr(s) Z c.éf -4
i- Define ratio and give one example. eSS e
i- If x and y2 varies directly and x =27 when y = 4. y=4 5 x=27 s wart FJhy? 4l x A i
Find the value of y when x=3 - x=3,§2§(P¢EJy?
iii- Locte the angle 22%o in xy- plane B Uk SR - xy S 22%0 i
iv- Express (60)° angle into radian. “Z 6 g hs S (80)° -iv
v- Define an angle. -é.,g/"' J,;U -V
vi- What is the radian measure of the central angle of -} 25 U KU1 it e /2 50 Ju J u’}'{ s Vi
an arc 50 m long on the circle of radius 25 m? S ¥ o/ hs & i & g I
vii- Find r when {=56cm and @ =45° e F S 1 9 =45° =56 KT o il
vii- Ina A ABC, calculate mBC when £Ee mBC Ut AABC  -vii
mAB=5cm, mAC=4cm, mZA =60°
ix- Divide an arc of any length into two equal parts. -Z:{f..:”u: UrPie S U3 i) JJLJ Jf -ix

(ﬂ'JJ))
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(a) Solve the equation 7x%+2x~-1=0 by

completing square.
(b) Find the value of k, if the roots of the equation
(3k + 27 x% - 5(k + 1) x + (2k + 3) = 0 are equal.

1
(a) moc— and m=2 when n=4 find m
n

when n=6 and n when m =432
3x-11
(x+3)x%+1)

@ If U={1,23, ...,20}
X={1,3, 79,15, 18, 20}

(b) Resolve into partial fraction.

thenshowthat Y-X=YNnX’
(b) Find the standard deviation of
11500, 12400, 15000, 14500, 14800

(@) Verify that \/m _secB+1
sec0 -1 tan/®

(b) Circumscribe a circle about an equilateral triangle
ABC with each side of length 4 cm.

Prove that the measure of a central angle of a minor.arc
of a circle, is double that of the angle subtended by the '
corresponding major arc

OR
Prove that two tangents drawn to a circle
fom a point outside it, are equal in length.

110-221-100,000

ES S i) TP 2x-1=0() 8

L (3k+2)x2—5(k+ 1) x+ (2k +3) =0 = hlaSl ()

A I NG STV Y

ZeFmin n=4 Lm=2. moc—%— (D -8
n

-t m=432.,«>.é§~:(}" ns n=6 o2

- Ix-11
E w6 S 2D ()
cU={1,2,3,...,200 S 7
X={1,3,7, 09,15, 18, 20}
Y={1,3,5,.., 17}
Y-X=YNX' &t in
11500, 12400, 15000, 14500, 14800

fse09+1 _secO+1
sec6-1  tan®
LNty 86 ABC &b Liaiifols ()
Ny S

Yy d/ﬁ’ s d_:_»/:.’"u’}uf py Lf(f?'—"(cf(f' -9
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1-" 1~ A fraction in which the degree of numerator is greater
or equa! to the degree of denominator is called
an improper fraction /...ab,-! B)
anidentity £l (D)
2- If number of elements ina set A is 3 and in
set Bis:2. Then number of binary relations in Ax B is
22 (D) 22 (©

(-]

3~ 20 =

3600' - (D) 1200" ()
4- A line which has only one point in common with a circle is called
cosine of acircle  cosine ¥—si» (B)
secantof acircle  secant b’y (D)
5- Aline intersecting a circle is called
sector /‘-; )

8- The number of terms in‘a/standard

chord #; (C)

quadratic equation ax? + bx+c=0 is
4 (D) 3 (©)

2 1
7-1f ¥ o~ then
X

y2 =x% ©
8- The nature of roots of equation ax?+bx +c = 0

is determiined by
product of roots A8 (B)
discriminant +03} (D)
-9- The length of a chord and radial segment of a circle are
congruerit, the central angle made by the chord will be
75° (D) 80° (C)
10- In aratio’ x : Y, Yy is called .
_proportion ¢ (D)  consequent de/» (C)
11- The diffetent number of ways to describe a set are
4 (D)
12- If a, 3 are the roots of equation 7x2-x+4 =0

3 (C)

then af is

:ﬁ
7 O
13- A frequency polygon is a many sided
triangle &l (D)
14- A compléfte circle is divided into
) 360° (D) 270° (©)
15- The meagure which determines the middlemost observation
in a dataiset is called

RN

©

square 6/ C)

antecedént f:&f (B)

A

=/} Sepuft ottt S 1A
-4 YIRS
an equation =hie (A)
a proper fraction /L2l (C)
In2 A 5%1113)h;’.(,(u5/11qu¢fﬁ -2

-4.(3.« s 'Jl,)lu J(‘:L AxB

2B 2w
20°= L

630 (B) 360" (A)

LS ELAL e S 4
sineof acircle sine b’y (A)
tangent 57 (C)
-ﬁ:.t'ﬂp(b’ tfd’;fg}b -5
tangent Jl¥ (A)

tangent of a circle

secant Cf’ 6k (B)

-c"_:ui" Juﬁ: K ax?+bx+c=0 whl Yo G -6

2 (B 1A
¥, yzoc——13— N7
X
2_ 1 2k
Y == @8 y =—7
3 B) 3 (A)

- bl l:(r)h’frl}l J(fué éxz +bx+c=0obl- o8

sum of roots 767 (A)
synthetic division (<& (C)
Ut VP S Ul 35 b S 4T 9
W i o5
45" (B) 30° (A
-g,t‘l)[y U oxiy e 210
relation &"7 (A)
ST SUBI L S w11
2 (B) 1 A
UL T -x+420 e B.a Ji 12

-etndzaf Fun

4 -1

7 (?) 7 V)
< Suiskt & Lo 2605 _13

rectangle JJ’V (B) closed figure P A)
st Ve 14

180° (B) 90" (A

et 2t Qen S 2.2 L1 15
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Section1
2- Wirite short answers to any SIX questions: (2x6=12)
i~ Define exponentfal equation.
i- Sove:  x2+2x-2=0
jii- Write in standard form:  (x + 7)(x - 3) = -7
g —14++-3
V- Find @ if 0= — "
2
v- Write the quadratic equation having roots -1, -7
Vi- Evaluate:  (1-30-302)°
vii- Express 75°,225° as a ratio in its simplest (lowest) form.
1
viil- if a“b—z‘ and:a=3 when b=4. Find a when b=8
ix- Find fourth p.ropdrtmn to 4x% 2x3, 1855
3 Write short answers to any SIX questions: (2x6=12)

i- What is a properfraction?

x-35
ii- Resolve g s into partial fractions.

x“+2x~-3
iii- Define intersection of two sets.
iv- if L={a, b,c} ahd M ={d, e, f, g}, then find
two binary relations in L x M
v-if X={1,4,79} and Y={2, 4,5, 9}, then
find XNY
vi- If X=¢,v=
vii- Define class mark.
viii- Find arithmetic mean by direct method for the
following set of daa:
200, 225, 1350, 375, 270, 320, 290
ix- Define geometrig mean.
4~ Write short answenjs to any SIX questions:
i- Define inverse variation.
ii- Find a third proportional to 28 and 4
iii- Express -150° into radians.

+, then find XNY

(2x6=12)

) ; 1
V- Find r ,when £=4cm, 9=E radians.

4

( é_ IJJJ)

il

-é{/’..w/"é..ub—(s) ge_éf -2

"J/“ Ju’!l/ GUHI
-.id’f 2422220

A Phe S (x4 Nx-3) =7
_ép‘" w% In m:%ﬁﬁ
Un =1, =7 Ju Jq_f a%.uvdu 2
el (1-30-302)
- P A T e § 75, 208°
~¢-b=4 £ a=3. aocglé—ﬁ
s b=8 £z a

A el T s 2x3 18x°

dii
-iv

Y
Vi

~Vii

~Viii

-ix

-E feizFLlomre) gif -3

q_dx U’/..)b
-é&:‘fu:u,/dfz[ 2

X +2x—3

ES e Lyt s

U LxMJx M={d,e f g} s L={ab,cf

-ép"" by, Jl;»

In Y={2,4,59 s X=01,47,9

“Ze XN Y

SEp XNY In yogt X=¢ A

“ZEaff o (e
’Z:Tr}" bt QP l()b’g)_j) b ey fblslh

200,225, /350, 375, 270, 320, 290

~Z P bl gl

i
i

ii
-iv

<V

Vi

-vii
~viii

-ix

“Efer Lo ®) g 8 4
Sl d
G 28 4
@ gt £ 4500 i

1 .
£=4cm, 6=Z radians,?.ér}”r -iv
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v- In a circle of radius 10 m, find he distance travelied by a b b LS 235, Lombg v
point moving on this circle if the point makes 3.5 revolution. (Tn= /§‘3.5) S /% 10 Ul K b &2
(3.5 revolution = 71)
. - PRRE ;
vi- Convert —= into degrees. e s T st
vii- Defing radian measure of an angle. ' _ _é_g /7 Us qég g 2 Vil
viii- In a A ABC , calculate mBC when: : ,éz;-fr)" mBC ¢ AABC -vii

mAB=5cm, mAC=4cm, mZA=60 _
ix- Divide an arc of any length into two equal parts. EEr o IS i
-4"_(5)!] 9) i/:;dlr(?t‘ -ngd’caﬂlr (3) uf::— ch.— 4 (19 o W2
(A4 Lozpn 28 LJws) Sectionll o 2

(@) Solve the equation: i P S L] Y o Y i 7 ehls (D <5
x+a x-a 12 : Xx+a x-a 12 _
(b) Find the value of h using synthetic division if '3' 3 i 1 geprod Chedi L (:fr Jf} fsaer)
is the zero of polynomial: i K J; /Sf
2x% - 3hs? + 9 2%% - 3hx? + 0

1 - 1
(@) moc— and m=2 when n=/4,find m ’q{(ﬁ"mm n=4.2m=2 moc— () -6

n’ n
when n=6 and n when m =432 - m=432_..>.épl” nst n=6 =2
(b) Resolve f‘-}iisx——z—_-z into patial fractions: -@fg}.’.b’ S8z M ()
3x%-2x-1 . ' 3x2 -2x-1.
@ If U={1.234,56 78,9, 10}, | U={1,2,3,4,5,6,7,8,9,10} () 7
A={1,3,57, 9} and » A={1,357 9}
B={2,3 5,7}, then Jn B={2,3,5,7)
verfy (AN B)Y = A’U B’ . " (AN BY = A'UB #o
(b) Find the standard deviation 'S' of : ek s U e ()
9 3,88 9 8 9, 18 93,8, 8,9 8,9, 18
@ If tanB = —;E and sin® < 0, then find the values 5@ Ju sin® <0 y tan6 = ';‘i )7(._,511) -8
of other trigonometric functions at 6 Epred 8 I def
(b) Draw two common tangents to two touching circles -Ji 35 725 Uy Lustsen 2/, u’ » (o)
of radii 2.5 cm and 3.5 cm. Ee S Ly
The measure of a central angle of a minor arc of a circle is G % i ol ST s S cen By S Py J( -9
double that of the angle subtended by the corresponding major arc. e b b gt s Lo i s
OR b
If two arcs of a circle (or of congruent circles) are congruent J&LP NeD f! U ol (§ 4 L U/l Jf (raf7)
then the corresponding chords are equal. -l as ) Jy 25 Lyidun
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